Solution 3 by Kee-Wai Lau, Hong Kong, China

It is known that for real z tending to zero, we have e* =1+ 2z 4+ O (332)
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Also solved by Arkady Alt, San Jose, CA; Bruno Salgueiro Fanego, Viveiro,
Spain; Moti Levy, Rehovot, Israel, and the proposers.

5311: Proposed by José Luis Diaz-Barrero, Barcelona Tech, Barcelona, Spain

Let x,v, z be positive real numbers. Prove that

> ( +3y ) (x2y+;2) > 3v/10.
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Solution 1 by Arkady Alt, San Jose, CA
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using again AM-GM Inequality we obtain
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Equality holds if x =y = 2.
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